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Cluster: 0137 ptr; resid: 0.31; r/c: 33/76

x.range

upstream meme PSSM #1; e=10

1 3 5 7 9 111 3 5 7 9

x.range

y.
ra
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e

upstream meme PSSM #2; e=350

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11
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8663

9327

27972

33569

33867

34233

35030

35224

35419

40228

40453

42254

42304
42451

42670

42722

42861

43298

44426

45099

45149 45206

45399

45558

45596

45862
46015

46029

46134

46164

46535

54656

9252

string −500 −400 −300 −200 −100 −1
42254NA
42304NA
33867−0.13
46535−0.17
42451−0.23

9252−0.32
35030−0.46
46015−1.04
33569−1.27
42722−1.48
46029−1.66
34233−1.77
45558−1.92
35224−1.93
45149−2.15
40453−2.22
45596−2.28
45099−2.35
44426−2.51
42861−2.63
45399−2.78
45862−3.39
46134−3.41
45206−3.57
27972−3.69
40228−3.97
46164−3.99
43298−4.23

9327−4.58
35419−5.42
54656−5.49

8663−5.64
42670−7.33

log10(P) upstream meme1 2 log10(P.clust)=−2.71; 33 seqs; 32 uniq
c(0.5, 2.5)
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